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Outcome 2 - Substitution

Bronze examples... Silver examples Gold examples

7 ) (8 ) (4

Examples...

Ifa=5 b=6andc=1,

Examples.. Examples...

Ifa=4,b=5andc= 3 Ifa=—4,b=16andc =2,

]

. **Replace a with 5
calculate: e

atc=5+1=6
**9ameans 9 x a**
9a=9%x 5 =45
**3bcmeans 3 x b x c**

3bc=3%x6%x1=18

**To square a number
means to multiply
it by itself**

FH e =(4) % (A)+(2) % (2)

calculate :- calculate:-

2a+3c=2x4 +3x3=17

2be+10= 2x5x% 3 +10 —16 +4 =20 **To cube a number

means to muliply
it by itself 3 fimes**

56 =5 % (-2) % (:2)x (-2) =40

**What number do
Vb =16 =4 1 square fo get 162**

A

S N =/
Bronze Questions Silver Questions
L
If a=10, =20 and ¢ = 30, calculate:- .é/ If =6, b=5and ¢ = 8, calculate:- é/
L ath 2 b+e L  4dat+5h & 9b—3¢
e a+b+c é c=-a ] 561+2be é 750760
5 a+b-c e 2b & 3ac+10 § 8ab=2
ac
Z T 8 ab z bte g8 =
10 2
8 b &8  3abe 8 5_%(1 8 1|_%b
Gold Questions
If a=—4, b=25and c =1, calculate:- w
pi da+b & 6¢c—3
w 2a+3b & 3h—4c¢
= a’ o ¢
o 4 3¢ 8 2a°
8 p+o 8 Vb
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Bronze Answers

1. 30
3. 60
b. 0
7. 210
9. 600

Silver Answers

1. 49
3. 32
B. 14-4
7. 1-3
9. 2

Gold Answers

1 9
3. 67
5. 16
7. 3
9. 17
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B0
20
40
200
900

21
244
120

24
10
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